< 0.005
< 0.005
< 0.005
< 0.005
NUK
(n = 99)
MIC50 = 0.06 mg/L 
MIC90 = 16 mg/L
SEUK
(n = 91)
MIC50 = 0.03 mg/L 
MIC90 = 0.03 mg/L
Finland
(n = 99)
MIC50 = 0.06 mg/L
MIC90 = 16 mg/L
U.S.A 
(n = 101)
MIC50 = 0.06 mg/L
MIC90 = 0.125 mg/L
Germany
(n = 48)
MIC50 = < 0.015 mg/L
MIC90 = < 0.015 mg/L
< 0.005
< 0.005
1.000


a)


< 0.005

b)NUK
(n = 99)
MIC50 = 1 mg/L
MIC90 = 2 mg/L
SEUK
(n = 91)
MIC50 = 1 mg/L
MIC90 = 2 mg/L
Finland
(n = 99)
MIC50 = 0.5 mg/L
MIC90 = 1 mg/L
U.S.A 
(n = 101)
MIC50 = 0.5 mg/ 
MIC90 = 1 mg/L
Germany
(n = 48)
MIC50 = 1 mg/L
MIC90 = 2 mg/L
< 0.005
1.000
< 0.005
< 0.005
0.261
0.061

